
LH

SA32

SA40
SA36

10032

SA16

SA25
SA20

SA13
SA10

40
36 112

125

D H

25
20
16

10
13

　64
　80

　50

　32
　40

355M12×1.75 2020
22
26

22
24

M16×2
690
525

L

13
16

10

　7
　8

15
18

13

　9
10

M10×1.5
M　8×1.25
M　6×1
M　5×0.8
M　4×0.7

　45

175
　90

（g）

　25
　12

D D
1

WeightD1

107
120

　85

　53
　67

36RA36

RA16
RA20

RA32
RA25

Part Number

25
32

20
16

5252222 M16×2

M　6×1

M12×1.75
M10×1.5
M　8×1.25

16
20

13
10

18
20

15
13

170
360

　90
　45

Weight
（g）

SA,RA STEEL HANDLES

W

Hard chrome plated
Steel(SUM２２)

Body

SA

RA

SA

RA

(Fixed)

(Revolving)

(Revolving)

(Fixed)SA

RA

(Fixed)

(Revolving)

M

M

D H LD1 M

Part Number

Across Flats  W

17
19

13
10
8


